ORIGINAL SERIES

V3021D
V3621D

ASSEMBLY GUIDE

NITURRA

VANITY | SINK | FAUCET ——



NOTICE

® Please read this assembly guide thoroughly and carefully before
assembly

® Please ensure your assembly area is clear of any debris or sharp objects
which could scratch or damage the cabinet.

® Our cabinets are treated with paint, which can be fire hazardous, please
avoid storing in areas with high temperature or near the fire.

® Please take caution with small parts inside the package, losing or
misplacing them could affect your overall assembly

® We recommend using power tools (ie: drill, pneumatic nail gun, etc) for
your assembly. This will facilitate your assembly experience.

® In event of missing or damaged/defective parts not caused by
wear-and-tear, please contact our authorized dealer for assistant and
we apologize for any inconvenience.

® |fyou are not a professional or have no prior experience in cabinet
assembly. We advise excessive caution and follow closely to this
assembly guide.




NOTICE

® TEREITaR , BT AIRERRER
o (RHEHREINIES | LARS BV ERAH LI

o H{INFmIAEm  EBTZMM  RINERE |
byl

o FLENERRAENNETY , MREATPUHAT , 7
R SHEN AR EZE

o IEREIED  BUGERATA (L) &
%’ﬂj@)  ALAAETARZRE |, (BEEESER | &
£

o —EBARY , ARG | FEARH L HE A
ERETHMT | TR IETRATAME | 3 TRREER

o SIAFRIRERT | B R MO A
T




MATERIAL LIST

SO

Face Frame Side Panel Back Panel

E

Decorative Bottom Bottom Panel

et

Drawer Face Drawer Bottom Panel Drawer Side Panel Drawer Back Panel




MATERIAL LIST

Quantity

e N P FA R
1 Drawer Glide 0141|412
2 |Drawer Glide Connector| 0 | 4 | 4 | 12
3 BackBrackets | Q0 | 4 | 4 |12
4 | SupportBrackets | 4 | 4 | 4

g Door Hinge 4 (2 | 4

6 |L-Shape ConnectorClipl 4 | 6 | 6 | 6
7 | 11/8"PhilipsScrew | 4 | 4 | 4 | 4
8 | 5/8"PhilipsScrew | 20 | 18 | 24 | 32
9 | 1/2"Philips Screw | 24 | 24 | 24 | 24

10 | L/4Philips Screw | 0 | 8 | 8 |24 2 = ' %
11 |11/4"Machine Screw| O | 2 | 2 | © 55 = %"7

12 |7/8"Machine Screw | 3 | 2 | 3 | 3

13 Knob 314|519 13

14 Bumpers | 4 | 6 | 8 | 16 @
15 Leg Pad 414414

16 | legmor®) |4 |4 |4 |4

® Jtems 11, 12, 13 are not provided in this product , please
don’ t forget to have them ready prior to your assembly.




INSTRUCTION

STEPT KN

B Place the face frame in a face down position
to a flat surface. Secure the L-Shape
connector clip with 1/2" Philips screws to
the pre-drilled holes # @

D SHEFAE THETATYE  ASERLE
KHEERRD , AY2 EMEHT50
EHER , REEHA=/ ERATERT

STEPTEA

P As show in this picture, slide the side panel
into the face frame's groove located on the

left or right. Then, secure the side panel to
the L-shape connector clip #@using 1/2"
Philips screws. Repeat this step for the
other side panel.

D ETRREEEER  FHEATENRET
528 0 By BAELTERNE BB
BB RRRR LR

I



INSTRUCTION

STEPTH

D After securing both side panels, slide the
bottom panel to both side panels' grooves

and make sure its fully inserted. Then secure
the bottom panel with the side panels using

a L-shape connector clip. Please repeat this
step for the opposite side.

D LESHRURE , REER (0EF) | IR
EMIREA , HRONES , (ER2iAER
ZRIE © FiR , ENRS R TR
MBI EAARE BLELTEE, B
—fIFE

B Now slide the back panel to the back
grooves of the side panel. Make sure its
fully inserted, then nail the side panel to the
back panel. (About 1/6 to 1/4 inches from
the end of the side panel, see picture #@ ),

0 We suggest three nails per side panel.

P RiRZRERR  MHER (&) , &AW
RER , BEE  EREELE  FHRERRA
B | RO A (BiRkias-7mm )
FTNESHOIEET (B =1REDRT )

8



INSTRUCTION

STEPTH

— (Y

(@

v 3

Q

D Secure the decorative bottom panel to the

bottom panel previously installed. Secure
them using 1 1/8" Philips screws to the
pre-drilled holes on the back panel. Then
installed the cabinet legs to the decorative
bottom panel.

P BRERR  RHEERR (18R ) | SR

NEfE , &R @ firx , F1Y/8 "BAET SRR
FERIREE ; BAMR AT RHRAEND , MO
TRt iERe T R RIA]

ey,
"’f Q

P Turn the cabinet box to the standing

position. Secure the top four corners using
the "Support Brackets". Use 5/8" Philips
screws. Two screws per bracket will be
enough.

P BHTRITE RN, EheBRRLEE

&R WO ER, FESERRETT , B
5/8" BisTEESERER , A O BRA
AL, e 2R

£



INSTRUCTION

STEPT KA

P After securing the four corners with brackets. Attach the back bracket to the
pre-drilled holes on the back panel.Then, as shown on #@slide the U-shape end
of the drawer glide into the back bracket, adjust the depth accordingly. Lastly,
secure the front end of the drawer glide to the face frame using 5/8" Philips
screws. Make sure the front of the drawer glide is recessed approx. 3mm from

glide. Par as semi-transparent indi

the face frame. (Not flushed with the face frame) R o
this ; movable, which will help in
P NEERE , REO Birr , ERETGRA\SHRBRR ; A0 0 BT ice

EERERUEEEARIEHRN , RESREARERS | RE1N 0 Bfx , B
5/8" BLETRENSHIERE | YRR RIEINDEALI3mm

10



INSTRUCTION

STE PT ﬂ @ Assembling the drawer box

P After securing the drawer glides to the cabinet box. Assemble the dove-tailed drawer box. Properly secure the dove-tailed drawer box
panels with each other. Attach the drawer glide connectors underneath the drawer box as shown on #B (Two connectors per drawer box
as shown on #C). Secure the connectors using screws at the location shown #@) and #@on picture B.Then, position the hole (Picture C,
#@3) on the back of the drawer box and insert it to the movable glide mentioned in Step 7 (Refer to Picture D, #@). Once inserted, push
the drawer box all the way into the cabinet box, the drawer assembly is complete.

D ERISEREER  SRHE  MERARREEN  NBATMATHESEENT ; REARNHRRESL  NiiERRER (18
Bttt ) | PRITERED , QNEREGRRRMELTREIE (ZBHEXBVER) | F&aR  HERRERME , SHRECH
RERNIREAOSEDFRBRAENENG (%ol , BEESTEPT 7 FEiEE ) , BORAGT , B— 'Rl , EiiGhEE
HHEIER , R

11



INSTRUCTION

STEPTER

B> Last step, install the doors to the face frame

using provided hinge shown on # @ and
#@ . Using 5/8" Philips screws, attach one
end of the hinge to the pre-drilled hole on
the door and attach the other end of the
hinge to the pre-drilled hole on the face
frame.

P itTRE—S  LER, SREO e
iR, F5/8" BASTREESI IRER ; B2
O KGR —m SRIEMEIRAS/8" B4
T REE. Bl DA R

12




More Information www.niturra.com



